N
w
=
»
M
2
m
7

ZBF 2=
/BF SERIES GEAR BOX

M 23R E Sectional Drawing

W E52S . HEEFIRSEE Type And Model Number

@ 4 Output shaft

@ Rz Front cover

® jHE 0il seal

@ HyHHETiHA Output shaft front bearing
® 4724 Planetary gear

® HiHhfEH& Output shaft rear bearing
@ PISES Front cover

5= Rear cover

® APFE%S Solar wheel

@ BX4HESAHR Coupling

@ BX4HES Coupling

© 1EFCEBHLIE= Rear cover

ZBF3#]l, ZBF Reducers

‘ {FIRREEH Servo Motor

60 ZBF 10 ()

v 2@ ©® @

(S) - 400 T
® ® @

@ RN ALEES: 060/090/115/142/180 Gear head frame size: 060/090/115/142/180
® RERENARFULS: Gear head series code:
© ZBF BRI EZRD ZBF: Square mounting flange series
@ FpEEL: 10 Gear ratio: Single stage 10
#LEEE Cabin seat %] Stage FEZHIP1 Precise HEELP2 Standard
1 3 5
060ZBF
2 5 7
1 3 5
090ZBF
¥&E Accuracy 2 5 7
@ iR EASFEHEERN + 3% HE 1 3 5
Output shaft load value at +=3% of allowable output torque 115ZBF 2 5 7
1 3 5
142ZBF
2 5 7
1 3
180ZBF 5
2 5 7
PN Input shaft type
S: BASE (BIE) (LICEAREEEEErnIEA ) S: Overall locking (Omitted) (Can be used regardless of whether the motor has a keyway)
5 ST HHEMME ( T DXEEEREEa(EA ) S1: Locking with locking ring (Can be used regardless of whether the motor has a keyway)
S2: TEREERER (AT ) S2: Lock with keyway (Input shaft with key)
K: Tt K: With keyway
A: EhiEFRSS (BT AATERR ) A: Other adapters (Please contact us)
® ERERDAINE (W) Applicable servo motor power (W)
@ BWNE=SERBHINNRATZE () Corresponding dimension table of input flange and servo motor ( )




ZBF RIS Z1TERIEN
/BF PLANETARY GEAR BOX

M 7 5B Product Diagram

W 5 A E¥$ Technical Information

S31¥3S 497

FE RS Product type 060 090 115 142 180 IREEEE Reduction ratio 2% %] Series
45 120 198 332 578 3
40 130 280 532 1040 4
50 150 320 650 1190 5 1 P09
40 130 290 540 1090 7
35 110 250 490 990 8
30 90 220 440 890 10
45 120 198 332 578 15
AR TE " a0 130 280 532 1040 20
Rated output torque ' 50 150 320 640 1190 25
40 130 290 540 1190 35
35 110 250 490 990 40 2
50 150 320 640 1190 50
45 140 300 590 1090 64
40 130 290 540 1090 70
35 110 250 490 990 80
30 90 220 440 890 100
F5p Life /N Hour 20000
Iﬂilt?fﬁi%%gcy stop torque N.M 2AZEREIH JI%E 2 times rated output torque

FEERBLS Product type 060 090 115 142 180 EA{S] Company 4BEY Series
B AR Radial force 1100 3000 6023 9230 13500 N -
BAHHEA] Axial force 630 1230 2550 4200 7000 N -
[T - =97 1
HEERIER Full load efficiency %
>94 2
i 0.9 2.5 6.5 6.5 6.5 1
EE& Weight Kg
1.2 3.0 1.2 1.2 1.2 2
T{EBE Operating temperature -10~+90 °C -
{FHPZE4K, Protection level IP65
JEiB75 2, Lubrication method #2538 Lifetime lubrication
LA Installation method {EE= Any

RARADSHEAMES , HH100RPMET , ERR TR OMUE 2)4k.

Maximum radial force and maximum axial force, when the output is 100RPM, it acts on the center position (L/2) of the output shaft.



ZBF R2IEZ1TERIEN
ZBF PLANETARY GEAR BOX

M A &¥$ Technical Information

= EREYS Product type 060 090 115 142 180 JBIEEY, Reduction ratio ¥ Series
0.16 0.61 3.25 9.21 28.98 3
0.14 0.48 2.74 7.54 23.67 4
0.13 0.47 2.1 7.42 23.29 5 1
0.13 0.45 2.62 7.14 22.48 7
0.13 0.44 2.58 7.07 22.59 8
0.13 0.44 2.57 7.03 22.51 10
N 0.03 0.13 0.47 2.71 7.42 15
%-il o Kot 003 0.13 047 271 742 20
0 Moment of inertia 0.03 0.13 0.47 2.71 7.42 25
m 0.03 0.13 0.47 2.1 7.42 35
E 0.03 0.13 0.47 2.71 7.42 40 2
m 0.03 0.13 0.44 2.57 7.03 50
wn 0.03 0.13 0.44 2.57 7.03 64
0.03 0.13 0.44 2.57 7.03 70
0.03 0.13 0.44 2.57 7.03 80
0.03 0.13 0.44 2.57 7.03 100
= EREYS Product type 60 90 115 142 180 ¥ Series
s arcmin <3 <3 =<3 <3 <3 14% One series
[BIF2/a)ps Backlash Mo <5 <5 <5 <5 <5 24% Two series
UMM Torsion resistance N.M/arcmin 7 14 25 50 145 -
IS Noise dB(A) <63
Rt HHEEER Output speed min’ 10000 8000 8000 6000 6000 -
i%ﬁri%ntrﬁi%nput speed min’ 4000 4000 4000 3000 3000

1. EFNEE SHMNMA>X. Moment of inertia is related to input shaft.
2. IREERARE | BEEIm , TEMINEEIE30004E /4> 25 ATMIAS. Noise detection standard, distance 1m, measured at input speed of 3000 rpm with no load.



ZBFiTERIEN S
/BF PLANETARY GEAR BOX-MECHANICAL PARAMETER

B R <FE& Dimensional Drawing

8 Output

BN Input
L1
03
L2 L3 L4
1 /Dj L1 L8
je e gl —— N
4 SENTENR2 .
_ L 1 7))
-0)-—t=|{- -1+~ 8 8 5 = ﬁ 8 m
G3 U s E
) L10 m
\@/ N \gé, = wn
. Q / —— -
! 4-D9E7L | L9
D7
P11
Il R~J 3 Dimensional Table [E£7Unit: mm]
FEERELS Product type 060ZBF 090ZBF 115ZBF 142ZBF 180ZBF
2% Number of stage 1 2 1 2 1 2 1 2 1 2
L& L1 overall length 1215 131.5 153 167.5 208 219 295.3 3305 295.5 3525
L3F&4RE L3 body length 60.5 70.5 7.3 85.8 95 106 132.3 167.5 141 198
i Output
L4H4H<E L4 output shaft length 37 48 65 97 105
L5-HAHHZ4M/E L5 output length to the shaft shoulder 285 36 51 79 82
LESE{<RE L6 key length 25 32 40 70 70
L7$EZ4ARIH1S LT key length to shaft end 2 2 5 4 6
L8 & E42 L8 spigot length 7 10 12 15 20
L11%5HR =2 L11 output flange thickness 8 10 14 15 20
DAHH4HET/R D4 output shaft diameter ®16H7 ®22H7 ®32H7 ®40H7 ®55H7
D5%ME B4R D5 shaft shoulder diameter ®20 ®30 40 50 ®65
D6ERIIAER D6 spigot length ®50H7 ®BOHT ®110H7 ®130H7 ®160H7
D74E1KE R D7 body diameter ®61 ®90 ®115 ®142 ®180
D8%2%EF, 3 #R[E] D8 hole circle ®70 ®100 ®130 ®165 »215
D9;%=ZZEF(, D9 mounting hole 5.5 ®6.5 P85 P11 P13
D10 5=i4%8 D10 mounting width 162 190 1120 142 1180
B142%% B1 key width 5 6 10 12 16
H1425 H1 key height 18 225 35 43 59
G37R/MBEFL G3 center screw hole M5X15 M6X18 M12X28 M16X36 M20X42
NI Input
L2 NIIE=4<E L2 input flange length 24 337 48 66 495
LOEBATL4HIEE L9 motor shaft length 30 40 58 81 81
L10ZEAL AR L10 spigot depth 10 10 10 12 12
D1L%E7,55%0[E D1 mounting hole distribution circle P70 90 P145 200 ®200
D2FERIMAER D2 spigot diameter ®50G7 ®70G7 ®110G7 ®114.3G7 ®114.3G7
D34 \FH4HH/Z D3 input shaft diameter <P14G7 <P19G7 <®24G7 <®35G7 <P35G7
G1Z2EREYFLXGRE G1 mounting threads X depth M4X10 M5X12 M8X21 M12X28 M12X28
Q3EIANE= Q3 input flange 160 180 1130 1176 0176




	页 8
	页 9
	页 10
	页 11

